

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: July 16, 2021

Progress Estir	nate Number	Contract ID Prime Contractor	201218-B03 W. L. Miller Company	Pay Period Start Pay Period End		Original Contract Amount Net Change Order Amount Current Contract Amount	\$2,635,410.20 (\$0.01) \$2,635,410.19	
Approval Date							By User	
July 16, 2021		G	Senerated and Approve	d (and should be cor	nsidered Draft)	at the Project Office Level by	peterc6	
July 16, 2021		Revie	wed and Approved (an	d should be conside	red Draft) at the	e Resident Engineer Level by	vierss	
July 19, 2021	Reviewed and Approved at the Central Office Controllers Office Level by							
Original Comp	oletion Date	Current Compl	etion Date Ad	tual Completion Da	ate	% of Current Contract Amoun	nt Complete	

Original Completion Date	Current Completion Date	Actua	I Completion Date	% (of Current Contract Amount Comple	te
November 1, 2021	November 1, 2021				95.73%	
Contract	Informational Dates		Milestones			

	Contract Informational Dat	ies	Milestones
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract
Acceptance Date			
Awarded Date	January 6, 2021	January 6, 2021	
Letting Date	December 18, 2020	December 18, 2020	
Notice to Proceed Date	March 8, 2021	March 8, 2021	
Work Began Date	April 21, 2021	April 21, 2021	

Contract Total Pa	y For Estimate No. 7			
		This Estimate	Previous	To Date
201218-B03				
	Total Posted Items Pay	\$133,565.46	\$2,389,304.77	\$2,522,870.23
	Gross Item Adjustments	(\$34,405.74)	\$107,568.83	\$73,163.09
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	•		\$2,496,873.60	\$2,596,033.32
Contract Total Page	yable This Estimate:	\$99,159.72		

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J2P3212	0010	2022010	REMOVAL OF IMPROVEMENTS	LS	\$12,796.150	0.375	\$4,798.56
	0040	2153000	SHAPING SLOPES, CLASS III	100F	\$865.000	21.68	\$18,753.20
	0060	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$55.950	15.45	\$864.43
	0110	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	EA	\$500.000	2	\$1,000.00
	0120	6161005	CONSTRUCTION SIGNS	SQFT	\$8.500	8.76	\$74.46
	0190	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.100	186,768	\$18,676.80
	0200	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.100	117,470	\$11,747.00
	0220	6221003	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (GREATER THAN 3 IN. THICK)	SQYD	\$12.500	62.33	\$779.13
	0310	6061060	MGS GUARDRAIL	LF	\$19.300	718.75	\$13,871.88
	0320	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	EA	\$2,650.000	12	\$31,800.00
	0330	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	EA	\$2,600.000	12	\$31,200.00
Project J2	2P3212 - T	otal					\$133,565.46
Overall -	Total						\$133,565.46

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Revision 4/1/2020 Page 1 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: July 16, 2021

Progress Estimate Number 7 Contract ID 201218-B03 Pay Period Start July 1, 2021 Original Contract Amount (\$0.01) (\$0.0

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J2P3212	0040	SHAPING SLOPES, CLASS	Overrun			-3.69	\$865.00	(\$3,191.85)
	0040	SHAPING SLOPES, CLASS	Overrun			-0.99	\$865.00	(\$856.35)
	0060	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	The Doc Record has been uploaded to eProjects.			\$66.26
	0800	CONCRETE CURB RAMP	Material			-23.9	\$210.00	(\$5,019.00)
	0080	CONCRETE CURB RAMP	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user peterc6 overridding Payment Estimate Exception 2 on the current Payment Estimate.	23.9	\$210.00	\$5,019.00
	0100	CONCRETE SIDEWALK, 4 IN.	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-8.4	\$104.00	(\$873.60)
	0100	CONCRETE SIDEWALK, 4 IN.	Material			-73.3	\$104.00	(\$7,623.20)
	0100	CONCRETE SIDEWALK, 4 IN.	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0003) overridding Payment Estimate Exception 10 on the current Payment Estimate. Material Insufficiency Quantity 73.300; Overrun Quantity Balance 8.40.	8.4	\$104.00	\$873.60
	0100	CONCRETE SIDEWALK, 4 IN.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user peterc6 overridding Payment Estimate Exception 4 on the current Payment Estimate.	73.3	\$104.00	\$7,623.20
	0190	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-186,768	\$0.10	(\$18,676.80)
	0200	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-117,470	\$0.10	(\$11,747.00)
	0310	MGS GUARDRAIL	Material			-718.75	\$19.30	(\$13,871.88)
	0310	MGS GUARDRAIL	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user peterc6 overridding Payment Estimate Exception 1 on the current Payment Estimate.	718.75	\$19.30	\$13,871.88
Total								(\$34,405.74)

Revision 4/1/2020 Page 2 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					C	Contract Project Information					
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work				
J2P3212	FAF 15-2(20)	Resurface and sidewalk improvements	15	SCOTLAND	from Rte. 136 wes	st junction at Memphis to Rt	e. 6 north junction in Edina				
J2P3362	FAF-15-2(22)	Add shoulders	15	SCOTLAND	from Rte. 136 west junction at Memphis to Rte. 6 north junction in Edina						
Totals by	Job Numbers										
J2P3212					This Estimate	Previous	To Date				
	Posted Ite Gross Iter	m Pay n Adjustments			\$133,565.46 (\$34,405.74)	\$1,424,588.53 \$72,074.99	\$1,558,153.99 \$37,669.25				
		Gre	oss Item	Pay	\$99,159.72	\$1,496,663.52	\$1,595,823.24				
	Incentive Disincenti	ivo.			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00				
	Liquidated	d Damages itract Adjustme	nts		\$0.00 \$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00 \$0.00				
		,				•	·				
J2P3362	D41 14 -	D			This Estimate	Previous	To Date				
	Posted Ite	m Pay n Adjustments			\$0.00 \$0.00	\$964,716.24 \$35.493.84	\$964,716.24 \$35,493.84				
	Grossiter		oss Item		\$0.00 \$0.00	\$1,000,210.08	\$1,000,210.08				
	Incentive				\$0.00	\$0.00	\$0.00				
	Disincenti				\$0.00	\$0.00	\$0.00				
		d Damages itract Adjustme	nts		\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00				
	Ciller Col	ili aci Aujustine	iiio		φυ.υυ	φυ.υυ	φυ.υυ				

Revision 4/1/2020 Page 3 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J2P3212, Item 6061060, Project Item Line Number 0310, Material Set 606106096, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2 Guard Rail, Acceptance Action Generic 1040GRSRCAT2 is insufficient.	Need to change the material code	peterc6	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3212, Item 6081010, Project Item Line Number 0080, Material Set 608101096, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	The Cure PAL # form has been submitted to Jeff City	peterc6	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3212, Item 6081010, Project Item Line Number 0080, Material Set 608101096, Material 1055CMMLT1D - Clear Pavement Cure (non-dissipating) @, Acceptance Action Generic 1055CMMLT1D is insufficient.	The Cure PAL # form has been submitted to Jeff City	peterc6	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3212, Item 6086004, Project Item Line Number 0100, Material Set 608600496, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	The Cure PAL # form has been submitted to Jeff City	peterc6	Overridden
Estimate Exception Type: Insufficient Materials: Project J2P3212, Item 6206000C, Project Item Line Number 0190, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Waiting on paint and bead certs and retro reflectivity results.	peterc6	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J2P3212, Item 6206000C, Project Item Line Number 0190, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	Waiting on paint and bead certs and retro reflectivity results.	peterc6	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J2P3212, Item 6206001C, Project Item Line Number 0200, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	Waiting on paint and bead certs and retro reflectivity results.	peterc6	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J2P3212, Item 6206001C, Project Item Line Number 0200, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Waiting on paint and bead certs and retro reflectivity results.	peterc6	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201218-B03, Contract Project J2P3212, Project Item Line Number 0040, Contract Line Item Number 0040, Item 2153000, Minor Item.	Waiting on Change Order	peterc6	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201218-B03, Contract Project J2P3212, Project Item Line Number 0100, Contract Line Item Number 0100, Item 6086004, Minor Item.	System Override	peterc6	Overridden
Estimate Exception Type: Item Overrun: Contract 201218-B03, Contract Project J2P3212, Project Item Line Number 0170, Contract Line Item Number 0170, Item 6169902, Minor Item.	Waiting on Change Order	peterc6	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201218-B03, Contract Project J2P3362, Project Item Line Number 0460, Contract Line Item Number 0460, Item 6224010, Minor Item.	Waiting on Change Order	peterc6	Acknowledged

Revision 4/1/2020 Page 4 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ted Quanti	ities a	ind Value	es are b	ased on R	eport Generated date and can differ from the posted am	ount at the	ime the	≞stimate wa	s Gener	ated.		
RACT N		Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
3 J2P3	3212	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS		\$12,796.15	\$11,196.63
		0001	0020	2061000	CLASS 1 EXCAVATION	51.00	0.00	51.00	CUYD	51.00	\$78.52	\$4,004.52
		0001	0030	2063000	CLASS 3 EXCAVATION	6.00	0.00	6.00	CUYD	6.00	\$89.00	\$534.00
		0001	0040	2153000	SHAPING SLOPES, CLASS III	17.00	0.00	17.00	100F	21.68	\$865.00	\$18,753.20
		0001	0050	3109910	MISC.TYPE 1 AGGREGATE FOR SHOULDER WEDGE	415.00	0.00	415.00	TONS	415.00	\$27.28	\$11,321.20
		0001	0060	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	20,949.50	0.00	20,949.50	TONS	20,637.91	\$55.95	\$1,154,691.06
		0001	0070	4071005	TACK COAT	32,046.00	0.00	32,046.00	GAL	31,358.00	\$2.20	\$68,987.60
		0001	0080	6081010	CONCRETE CURB RAMP	23.90	0.00	23.90	SQYD	23.90	\$210.00	\$5,019.00
		0001	0090	6081012	TRUNCATED DOMES	70.00	0.00	70.00	SQFT	70.00	\$26.50	\$1,855.00
		0001	0100	6086004	CONCRETE SIDEWALK, 4 IN.	64.90	0.00	64.90	SQYD	73.30	\$104.00	\$7,623.20
		0001	0110	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$500.00	\$1,000.00
		0001	0120	6161005	CONSTRUCTION SIGNS	2,536.00	0.00	2,536.00	SQFT	2,123.76	\$8.50	\$18,051.96
		0001	0130	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	4.00	\$25.00	\$100.00
		0001	0140	6161025	CHANNELIZER (TRIM LINE)	293.00	0.00	293.00	EA	0.00	\$22.00	\$0.00
		0001	0150	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$1,000.00	\$0.00
		0001	0160	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,200.00	\$6,400.00
		0001	0170	6169902	MISC.DETECTABLE PEDESTRIAN BARRICADE	4.00	0.00	4.00	EA	8.00	\$275.00	\$2,200.00
		0001	0180	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$52,630.00	\$52,630.00
		0001	0190	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	233,461.00	0.00	233,461.00	LF	186,768.00	\$0.10	\$18,676.80
		0001	0200	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	146,838.00	0.00	146,838.00	LF	117,470.00	\$0.10	\$11,747.00
		0001	0210	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	7,039.00	0.00	7,039.00	SQYD	7,039.00	\$1.50	\$10,558.50
		0001	0220	6221003	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (GREATER THAN 3 IN. THICK)	1,973.00	0.00	1,973.00	SQYD	62.33	\$12.50	\$779.12
		0001	0230	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,172.00	0.00	1,172.00	SQYD	1,172.00	\$7.15	\$8,379.80
		0001	0240	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$3,900.00	\$3,900.00
		0001	0250	7032009	CLASS B CONCRETE (RETAINING WALLS)	9.90	0.00	9.90	CUYD	9.90	\$2,775.00	\$27,472.50
		0001	0260	7101000	REINFORCING STEEL (EPOXY COATED)	1,060.00	0.00	1,060.00	LB	1,060.00	\$2.60	\$2,756.00
		0001	0270	7250312A	12 IN. PIPE GROUP B	13.00	0.00	13.00	LF	13.00	\$45.00	\$585.00
		0001	0280	7250324A	24 IN. PIPE GROUP B	7.00	0.00	7.00	LF	7.00	\$85.00	\$595.00
		0001	0290	7250330A	30 IN. PIPE GROUP B	7.00	0.00	7.00	LF	7.00	\$95.00	\$665.00
		0001	0300	8059901	MISC.SEEDING COOL SEASON MIXTURE	1.00	0.00	1.00	LS	0.80	\$6,000.00	\$4,800.00
		0010	0310	6061060	MGS GUARDRAIL	900.00	0.00	900.00	LF	718.75	\$19.30	\$13,871.88
		0010	0320	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	16.00	0.00	16.00	EA	12.00	\$2,650.00	\$31,800.00
		0010	0330	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	16.00	0.00	16.00	EA	12.00	\$2,600.00	\$31,200.00
		0040	0340	9031010	CONCRETE FOOTINGS, EMBEDDED	0.30	0.00	0.30	CUYD	0.00	\$1,550.00	\$0.00
		0040	0350	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	2.00	0.00	2.00	EA	0.00	\$237.50	\$0.00
		0040	0360	9031270A	2 IN. PSST POST - 12 GA.	32.00	0.00	32.00	LF	0.00	\$9.83	\$0.00
		0040	0370	9031273	POST ANCHOR FOR 2 IN. PSST - 7 GA.	6.00	0.00	6.00	LF	0.00	\$37.30	\$0.00
		0040	0380	9039902	MISC.RELOCATE SIGNS	2.00	0.00	2.00	EA	0.00	\$245.00	\$0.00
		0070	0390	7039902	MISC.BARRIER END MODIFICATION	4.00	0.00	4.00	EA	4.00	\$6,500.00	\$26,000.00
					ate as of Report Generated Date	2 400 00	0.00	2 400 00	OT A	2,400,00	#05.00	\$1,558,153.98
J2P3	3362	0001	0400	2129909	MISC.SHOULDER GRADING	2,182.90	0.00	2,182.90	STA	2,182.90	\$85.00	\$185,546.50
		0001	0410	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	4,314.40	0.00	4,314.40	TONS	4,139.39	\$21.75	\$90,031.73
		0001	0420	3105002	GRAVEL (A) OR CRUSHED STONE (B)	135.00	0.00	135.00	TONS	0.00	\$78.75	\$0.00
		0001	0430	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	11,249.10	0.00	11,249.10	TONS	11,114.74	\$55.95	\$621,869.70

Revision 4/1/2020 Page 5 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
201218-B03	J2P3362	0001	0440	4071005	TACK COAT	5,038.00	0.00	5,038.00	GAL	991.00	\$2.20	\$2,180.20
		0001	0450	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$13,500.00	\$13,500.00
		0001	0460	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,199.00	0.00	1,199.00	SQYD	1,575.13	\$10.50	\$16,538.86
		0001	0470	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1,527.20	0.00	1,527.20	STA	1,527.20	\$22.95	\$35,049.24
	Project J	2P3362 - To	tal Value	Posted to D	ate as of Report Generated Date							\$964,716.24
201218-B03 Ove	rall - Total	Value Post	ted to Dat	e as of Repo	ort Generated Date							\$2,522,870.22

Page 6 of 12 Revision 4/1/2020



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J2P3212

Line lumber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2022010	REMOVAL OF IMPROVEMENTS	7/8/21	7/13/21	0.12	LS	Bridge B0580					
			7/9/21	7/13/21	0.12	LS	Bridge A5261					
			7/13/21	7/14/21	0.12	LS	Bridge A4371					
0040	2153000	SHAPING SLOPES, CLASS III	7/7/21	7/16/21	3.69	100F	Bridge B0580					
			7/8/21	7/13/21	3.69	100F	Bridge B0580					
			7/9/21	7/13/21	5.80	100F	Bridge A5261					
			7/12/21	7/14/21	2.10	100F	Bridge A5216					
			7/13/21	7/14/21	2.95	100F	Bridge A4371					
			7/14/21	7/16/21	3.45	100F	Bridge A4371					
0060	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	7/8/21	7/13/21	15.45	TONS	various					
0110	6123000A	TRUCK OR TRAILER MOUNTED ATTEN (TMA)	7/13/21	7/14/21	2.00	EA	Striping crew					
0120	6161005	CONSTRUCTION SIGNS	7/13/21	7/14/21	8.76	SQFT	striping crew					4 wet paint signs
0190	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	7/13/21	7/14/21	186,768.00	LF	whole job					80% payment
0200	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	7/13/21	7/14/21	117,470.00	LF	whole job					80% payment
0220	6221003	COLDMILLING BITUMINOUS PAVEMENT FOR REM	7/8/21	7/13/21	62.33	SQYD	various					
0310	6061060	MGS GUARDRAIL	7/7/21	7/16/21	125.00	LF	Bridge B0580					
			7/8/21	7/13/21	125.00	LF	Bridge B0580					
			7/9/21	7/13/21	137.50	LF	Bridge A5261					
			7/12/21	7/14/21	156.25	LF	Bridge A5216					
			7/13/21	7/14/21	50.00	LF	Bridge A4371					
			7/14/21	7/16/21	125.00	LF	Bridge A4371					
0320	6061069	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	7/7/21	7/16/21	2.00	EA	Bridge B0580					
			7/8/21	7/13/21	2.00	EA	Bridge B0580					
			7/9/21	7/13/21	3.00	EA	Bridge A5261					
			7/12/21	7/14/21	1.00	EA	Bridge A5216					
			7/13/21	7/14/21	2.00	EA	Bridge A4371					
			7/14/21	7/16/21	2.00	EA	Bridge A4371					
0330	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	7/7/21	7/16/21	2.00	EA	Bridge B0580					
			7/8/21	7/13/21	2.00	EA	Bridge B0580					
			7/9/21	7/13/21	3.00	EA	Bridge A5261					
			7/12/21	7/14/21	1.00	EA	Bridge A5216					
			7/13/21	7/14/21	2.00	EA	Bridge A4371					
			7/14/21	7/16/21	2.00	EA	Bridge A4371					

The information below this line are details for Construction Signs (if applicable).

roject	Line Number	DWR Date	Total Quantity Posted For DWR Date		Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Po
3212	0120	April 8, 2021	152	GO20-2 WORK	48x24 8.00 END ROAD				1.00	8			
				See Sper	cial Sign Details				2.00		CONST-5 POINT OF PRESENCE	32.00	
				GO20-1 NEXT XX	60x24 10.00 ROAD WORK MILES				2.00	10			
				CONST-	8 48x36 12.00 WORK O PHONE ZONE				2.00	12			
				CONST-	7-72 72x36 18.00 RATE OUR ONE				2.00	18			
		April 9, 2021 1384 GO20-2 48x24 8.00 END ROAD 1.00 8 WORK					8						
					48x48 16.00 RIDGE/RAMP WORK AHEAD				11.00	16			1
				WO8-12 LINE	48x48 16.00 NO CENTER				27.00	16			4
				WO8-11 LANES	48x48 16.00 UNEVEN				48.00	16			7
		April 21, 2021	36	WO21-5b WORK A	0 48x48 16.00 SHOULDER HEAD				2.00	16			
				R9-9 CLOSED	24x12 2.00 SIDEWALK				2.00	2			
		April 22, 2021	6	R9-9 CLOSED	24x12 2.00 SIDEWALK				3.00	2			
		April 26, 2021	6	R9-9 CLOSED	24x12 2.00 SIDEWALK				3.00	2			
		May 6, 2021	272	WO20-7a (SYMBO	a 48x48 16.00 FLAGGER L)				5.00	16			
				WO20-4 ROAD A	48x48 16.00 ONE LANE HEAD				5.00	16			
					48x48 16.00 RIDGE/RAMP WORK AHEAD				7.00	16			
		May 7, 2021	192	WO8-1	48x48 16.00 BUMP				12.00	16			
		May 11, 2021	40	GO20-4 FOLLOW	36x18 4.50 PILOT CAR / ME				1.00	4.5			
				GO20-4a FOR PIL	1 42x30 8.75 PLEASE WAIT OT CAR				4.00	8.75			
		May 19, 2021	16	WO8-1	48x48 16.00 BUMP				1.00	16			
		May 20, 2021	11	See Spe	cial Sign Details				7.00		G020-4a Pilot Car in Use Wait and Follow	1.50	1

Revision 4/1/2020 Page 7 of 12



SLOPE Control Contro	ect	Line	Description	Adjustment Type		Est. Number	Created Date	Created By	Amount	Remarks
Content	212	0040	SLOPES,	Overrun	Overrun	7		SYSTEM	(\$4,048.20)	
Section			CLASS III		Overrun - T	otal			(\$4,048.20)	
				Overrun - Tota	al				(\$4,048.20)	
PAVEMENT Martinal		0040 -	Total						(\$4,048.20)	
3		0060	PAVEMENT	Material		3		SYSTEM	\$357,907.67	Estimate Item Adjustment (0001) due to user peterc6 overridding Payment
2021 Estimate Item Adjustment (0004) due to user peters overniding Payment Estimate Exception 1 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Estimate Exception 3 on the current Payment Estimate Exception 5 on the current Payment Estimate Exception 6 on the current Pay			PG64-22 (SUR			3		SYSTEM	(\$357,907.67)	
2021 5						4		SYSTEM	\$626,622.66	Estimate Item Adjustment (0004) due to user peterc6 overridding Payment
2021						4		SYSTEM	(\$626,622.66)	
Total S0.00						5		SYSTEM	\$1,153,826.64	Estimate Item Adjustment (0005) due to user peterc6 overridding Payment
Material - Total						5		SYSTEM	(\$1,153,826.64)	
Other Item Adjustment					- Total				\$0.00	
Adjustment				Material - Tota	ıl				\$0.00	
ACAD - Total S73,241.25						4		vierss	\$35,531.02	Doc Record saved to eProjects
2021 \$73,241.25						5		peterc6	\$37,643.97	Doc Record can be found on eProjects.
Other Item Adjustment - Total								peterc6	\$66.26	The Doc Record has been uploaded to eProjects.
TACK COAT Material					ACAD - Tot	al			\$73,241.25	
TACK COAT Material				Other Item Ad	justment - To	tal			\$73,241.25	
2021 4 2Jun 2, 2021 5 2Jun 16, 2Jun 16, 2021 5 2Jun 16, 2021 5 2Jun 16, 2021 5 2Jun		0060 -	Total						\$73,241.25	
2021 Estimate Item Adjustment (0006) due to user peterc6 overridding Payment Estimate Exception 2 on the current Payment Estimate.		0070		Material		3		SYSTEM	(\$20,204.80)	
2021						4		SYSTEM	\$34,922.80	Estimate Item Adjustment (0006) due to user peterc6 overridding Payment
2021 Estimate Item Adjustment (0006) due to user peterc6 overridding Payment Estimate Exception 3 on the current Payment Estimate. 5						4		SYSTEM	(\$34,922.80)	
						5		SYSTEM	\$68,987.60	Estimate Item Adjustment (0006) due to user peterc6 overridding Payment
Material - Total (\$20,204.80) MaterialCredit 4						5		SYSTEM	, ,	
MaterialCredit									(\$20,204.80)	
2021 \$20,204.80					ıl				(\$20,204.80)	
MaterialCredit - Total \$20,204.80 O070 - Total \$0.00 CONCRETE CURB RAMP A may 17, 2021 May 17, 2021 May 17, 2021 May 17, SYSTEM (\$3,087.00) This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user peterc6 overridding Payment Estimate Exception 6 on the current Payment Estimate.						4		SYSTEM	\$20,204.80	
Solution Concrete Curb Ramp 2 May 3, 2021 3 May 17, 2021					- Total				\$20,204.80	
CONCRETE CURB RAMP 2 May 3, 2021 3 May 17, 2021 3 May 17, 2021 3 May 17, SYSTEM \$3,087.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user peterc6 overridding Payment Estimate Exception 6 on the current Payment Estimate.				MaterialCredit	t - Total				\$20,204.80	
CURB RAMP 3 May 17, SYSTEM \$3,087.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user peterc6 overridding Payment Estimate Exception 6 on the current Payment Estimate. 3 May 17, SYSTEM (\$3,087.00)		0070 -	Total						\$0.00	
Estimate Item Adjustment (0004) due to user peterc6 overridding Payment Estimate Exception 6 on the current Payment Estimate. 3 May 17, SYSTEM (\$3,087.00)		0800		Material		2		SYSTEM	(\$3,087.00)	
						3		SYSTEM	\$3,087.00	Estimate Item Adjustment (0004) due to user peterc6 overridding Payment
						3		SYSTEM	(\$3,087.00)	
4 Jun 2, 2021 \$5,019.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user peterc6 overridding Payment Estimate Exception 6 on the current Payment Estimate.						4		SYSTEM	\$5,019.00	Estimate Item Adjustment (0007) due to user peterc6 overridding Payment
4 Jun 2, SYSTEM (\$5,019.00)										





Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2P3212	0800	CONCRETE CURB RAMP	Material		5	Jun 16, 2021	SYSTEM	\$5,019.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user peterc6 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					5	Jun 16, 2021	SYSTEM	(\$5,019.00)	
					6	Jun 30, 2021	SYSTEM	\$5,019.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user peterc6 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	Jun 30, 2021	SYSTEM	(\$5,019.00)	
					7	Jul 16, 2021	SYSTEM	\$5,019.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user peterc6 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					7	Jul 16, 2021	SYSTEM	(\$5,019.00)	
				- Total				(\$3,087.00)	
			Material - Tota					(\$3,087.00)	
			MaterialCredit		3	May 17, 2021	SYSTEM	\$3,087.00	
				- Total				\$3,087.00	
			MaterialCredit	- Total				\$3,087.00	
	0080 -	Total						\$0.00	
	0090	TRUNCATED DOMES	Material		2	May 3, 2021	SYSTEM	(\$1,060.00)	
					3	May 17, 2021	SYSTEM	(\$1,060.00)	
					4	Jun 2, 2021	SYSTEM	(\$1,590.00)	
					5	Jun 16, 2021	SYSTEM	(\$1,855.00)	
				- Total				(\$5,565.00)	
			Material - Tota MaterialCredit	l				(\$5,565.00)	
				rialCredit	3	May 17, 2021	SYSTEM	\$1,060.00	
					4	Jun 2, 2021	SYSTEM	\$1,060.00	
					5	Jun 16, 2021	SYSTEM	\$1,590.00	
						2021			
					6	Jun 30, 2021	SYSTEM	\$1,855.00	
				- Total	6	Jun 30,	SYSTEM	\$1,855.00 \$5,565.00	
			MaterialCredit		6	Jun 30,	SYSTEM	\$5,565.00 \$5,565.00	
	0090 -					Jun 30, 2021		\$5,565.00 \$5,565.00 \$0.00	
	0090 -	CONCRETE SIDEWALK, 4	MaterialCredit Material		2	Jun 30,	SYSTEM	\$5,565.00 \$5,565.00	
		CONCRETE				Jun 30, 2021		\$5,565.00 \$5,565.00 \$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user peterc6 overridding Payment Estimate Exception 13 on the current Payment Estimate.
		CONCRETE SIDEWALK, 4			2	Jun 30, 2021 May 3, 2021 May 17,	SYSTEM	\$5,565.00 \$5,565.00 \$0.00 (\$5,824.00)	Estimate Item Adjustment (0008) due to user peterc6 overridding Payment
		CONCRETE SIDEWALK, 4			2	Jun 30, 2021 May 3, 2021 May 17, 2021 May 17,	SYSTEM	\$5,565.00 \$5,565.00 \$0.00 (\$5,824.00) \$5,824.00	Estimate Item Adjustment (0008) due to user peterc6 overridding Payment
		CONCRETE SIDEWALK, 4			3	Jun 30, 2021 May 3, 2021 May 17, 2021 May 17, 2021 Jun 2,	SYSTEM SYSTEM	\$5,565.00 \$5,565.00 \$0.00 (\$5,824.00) \$5,824.00	Estimate Item Adjustment (0008) due to user peterc6 overridding Payment Estimate Exception 13 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user peterc6 overridding Payment
		CONCRETE SIDEWALK, 4			3 3 4	May 3, 2021 May 17, 2021 May 17, 2021 Jun 2, 2021 Jun 2,	SYSTEM SYSTEM SYSTEM SYSTEM	\$5,565.00 \$5,565.00 \$0.00 (\$5,824.00) \$5,824.00 (\$5,824.00) \$7,207.20	Estimate Item Adjustment (0008) due to user peterc6 overridding Payment Estimate Exception 13 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user peterc6 overridding Payment
		CONCRETE SIDEWALK, 4			3 3 4	May 3, 2021 May 17, 2021 May 17, 2021 Jun 2, 2021 Jun 2, 2021 Jun 16,	SYSTEM SYSTEM SYSTEM SYSTEM	\$5,565.00 \$5,565.00 \$0.00 (\$5,824.00) \$5,824.00 (\$5,824.00) \$7,207.20	Estimate Item Adjustment (0008) due to user peterc6 overridding Payment Estimate Exception 13 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user peterc6 overridding Payment Estimate Exception 13 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user peterc6 overridding Payment



DPS-17 1000 COCKPSTED	Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
7	J2P3212	0100	SIDEWALK, 4	Material		6		SYSTEM	(\$7,623.20)	
Total (15.824.05)			IN.			7		SYSTEM	\$7,623.20	Estimate Item Adjustment (0004) due to user peterc6 overridding Payment
Material Total						7		SYSTEM	(\$7,623.20)	
MaterialCrosts 1-total 2021 SYSTEM SS,824.00					- Total				(\$5,824.00)	
Total				Material - Tota					(\$5,824.00)	
				MaterialCredit		3		SYSTEM	\$5,824.00	
MaterialCredit Total					- Total				\$5.824.00	
Overrun				MaterialCredit	- Total					
2021 Estimate Rem Adjustment (005) overrising payment Estimate Exception 20 on the coursel Payment Estimate (105) overrus (2014) (9-300). Certus (105) (1	lun 2	SYSTEM		This adjustment offsets the original system-generated Overrun Payment
2021 SySTEM Sys				Overruit	Overruii	4		STSTEM	\$437.00	Estimate Item Adjustment (0001) overridding Payment Estimate Exception 20 on the current Payment Estimate. Material Insufficiency Quantity 69.300;
2021 SYSTEM \$416.00 This adjustment offsets the original system-generated Overrun Payment Estimate Issuafficiency Quantity 73.300 Overrun Classificiency Quantity 73.300 Overrun Classifici						4		SYSTEM	(\$457.60)	
2021 Setmake Item Adjustment (0001) overridding Payment Estimate Exception 12 on the current Payment Estimate Item Insulficiency, Quantity 73.300, Overnun Currently Salance 8.40.						5		SYSTEM	(\$457.60)	
2021 Estimate Item Adjustment (0002) overridding Payment Estimate Exception 12 on the current Payment Estimate Exception 4 on the current Payment Estimate Exception 4 on the current Payment Estimate Estimate Exception 4 on the current Payment Estimate Estimate Estimate Estimate Estimate Estimate Estimate Estimate Istimate Exception 4 on the current Payment Estimate Estimate Estimate Estimate Istimate Estimate Istimate Exception 4 on the current Payment Istimate Scapelior (Increase) (Increase of Vio.0000) (Increase of Vio.00						5		SYSTEM	\$416.00	Estimate Item Adjustment (0001) overridding Payment Estimate Exception 12 on the current Payment Estimate. Material Insufficiency Quantity 73.300;
2021 6						5		SYSTEM	\$457.60	Estimate Item Adjustment (0002) overridding Payment Estimate Exception 12 on the current Payment Estimate. Material Insufficiency Quantity 73.300;
2021 SySTEM S873.60 Seminate the original system-generated Overrun Payment Estimate Exception 4 on the current Payment Estimate Material Insufficiency Quantity 73.300; Verrun Quantity Balance 8.40. 7						5		SYSTEM	(\$416.00)	
2021 Settmate Item Adjustment (0002) overridding Payment Estimate Exception 4 on the current Payment Estimate, Material Insufficiency Quantity 73.300; Overrun Quantity Balance 8.40.						6		SYSTEM	(\$873.60)	
2021 SYSTEM \$873.60 This adjustment offsets the original system-generated Overrun Payment						6		SYSTEM	\$873.60	Estimate Item Adjustment (0002) overridding Payment Estimate Exception 4 on the current Payment Estimate. Material Insufficiency Quantity 73.300;
2021 Estimate Item Adjustment (0003) overridding Payment Estimate Exception 10 on the current Payment Estimate. Material Insufficiency Quantity 73.300; Overrun Quantity Balance 8.40. Overrun - Total						7		SYSTEM	(\$873.60)	
Overrun - Total \$0.00						7		SYSTEM	\$873.60	Estimate Item Adjustment (0003) overridding Payment Estimate Exception 10 on the current Payment Estimate. Material Insufficiency Quantity 73.300;
0100 - Total					Overrun - T	otal			\$0.00	
Oterrun				Overrun - Tota					\$0.00	
TRAFFIC CONTROL DEVICES Overrun - Total Overrun - Total (\$1,100.00) 0170 - Total (\$1,100.00) 0190		0100 -	Total						\$0.00	
Overrun - Total (\$1,100.00)		0170	TRAFFIC CONTROL	Overrun	Overrun	2		SYSTEM	(\$1,100.00)	
0170 - Total					Overrun - T	otal			(\$1,100.00)	
0190				Overrun - Tota					(\$1,100.00)	
WATERBORNE		0170 -	Total						(\$1,100.00)	
MARKING		0190	WATERBORNE	Material		7		SYSTEM	(\$18,676.80)	
Material - Total (\$18,676.80)					- Total				(\$18,676.80)	
0200				Material - Tota					(\$18,676.80)	
WATERBORNE		0190 -	- Total						(\$18,676.80)	
MARKING		0200	WATERBORNE PAVEMENT	Material		7		SYSTEM	(\$11,747.00)	
Material - Total					- Total				(\$11,747.00)	
0200 - Total (\$11,747.00) 0260 REINFORCING Material 2 May 3, SYSTEM \$1,261.00 This adjustment offsets the original system-generated Material Payment				Material - Tota						
0260 REINFORCING Material 2 May 3, SYSTEM \$1,261.00 This adjustment offsets the original system-generated Material Payment		0200 -	Total							
		0260		Material		2		SYSTEM		



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2P3212	0260	(EPOXY	Material						Estimate Exception 16 on the current Payment Estimate.
		COATED)			2	May 3, 2021	SYSTEM	(\$1,261.00)	
					3	May 17, 2021	SYSTEM	\$2,756.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user peterc6 overridding Payment Estimate Exception 19 on the current Payment Estimate.
					3	May 17, 2021	SYSTEM	(\$2,756.00)	
					4	Jun 2, 2021	SYSTEM	\$2,756.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user peterc6 overridding Payment Estimate Exception 19 on the current Payment Estimate.
					4	Jun 2, 2021	SYSTEM	(\$2,756.00)	
					5	Jun 16, 2021	SYSTEM	\$2,756.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user peterc6 overridding Payment Estimate Exception 11 on the current Payment Estimate.
					5	Jun 16, 2021	SYSTEM	(\$2,756.00)	
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
	0260 -	Total						\$0.00	
	0310	MGS GUARDRAIL	Material		7	Jul 16, 2021	SYSTEM	\$13,871.88	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user peterc6 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					7	Jul 16, 2021	SYSTEM	(\$13,871.88)	
				- Total				\$0.00	
			Material - Tota	l				\$0.00	
	0310 -	Total						\$0.00	
	0340	CONCRETE FOOTINGS, EMBEDDED	Material		2	May 3, 2021	SYSTEM	(\$279.00)	
				- Total				(\$279.00)	
			Material - Total MaterialCredit	l				(\$279.00)	
				3	May 17, 2021	SYSTEM	\$279.00		
				- Total				\$279.00	
	MaterialCredit - Total 0340 - Total							\$279.00	
J2P3212		Total						\$0.00 \$37,669.25	
J2P3362	0430	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	Material		5	Jun 16, 2021	SYSTEM	\$618,994.99	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user peterc6 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Jun 16, 2021	SYSTEM	(\$618,994.99)	
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
			Other Item Adjustment	ACAD	4	Jun 2, 2021	vierss	\$19,132.11	Doc Record saved to eProjects
					5	Jun 16, 2021	peterc6	\$20,105.84	Doc Record can be found on eProjects.
					6	Jul 1, 2021	peterc6	\$205.26	Doc record has been uploaded to eProjects.
				ACAD - Tota	al			\$39,443.21	
			Other Item Ad	justment - To	tal			\$39,443.21	
	0430 -	Total						\$39,443.21	
	0440	TACK COAT	Material		3	May 17, 2021	SYSTEM	(\$633.60)	
					4	Jun 2, 2021	SYSTEM	\$633.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user peterc6 overridding Payment Estimate Exception 4 on the current Payment Estimate.

Jul 19, 2021



Line Item Adjustments by Estimate

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J2P3362	0440	TACK COAT	Material			2021			
					5	Jun 16, 2021	SYSTEM	\$2,019.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user peterc6 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					5	Jun 16, 2021	SYSTEM	(\$2,019.60)	
				- Total				(\$633.60)	
			Material - Tota	ıl				(\$633.60)	
			MaterialCredit		4	Jun 2, 2021	SYSTEM	\$633.60	
				- Total				\$633.60	
			MaterialCredit	- Total				\$633.60	
	0440 -	Total						\$0.00	
	0460	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	Overrun	Overrun	4	Jun 2, 2021	SYSTEM	(\$1,093.26)	
					5	Jun 16, 2021	SYSTEM	(\$280.04)	
					6	Jun 30, 2021	SYSTEM	(\$2,576.07)	
				Overrun - T	otal			(\$3,949.37)	
			Overrun - Tota	ıl				(\$3,949.37)	
	0460 -	Total						(\$3,949.37)	
J2P3362 -	Total							\$35,493.84	
Overall -	Total							\$73,163.09	